
blogged_comp.
p < 0.001

1

≤ 55 > 55

time_in_rfc
p < 0.001

2

≤ 46698 > 46698

time_in_rfc
p = 0.015

3

≤ 30837> 30837

Node 4 (n = 12)

0
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Node 5 (n = 18)

0
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200

tot.revisions
p < 0.001

6

≤ 8654 > 8654

time_in_rfc
p = 0.037

7

≤ 121848> 121848

Node 8 (n = 88)
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Node 9 (n = 14)
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tot.revisions
p = 0.006

10

≤ 13539> 13539

Node 11 (n = 32)
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Node 12 (n = 12)
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blogged_comp.
p < 0.001

13

≤ 82 > 82

time_in_rfc
p = 0.021

14

≤ 180083> 180083

Node 15 (n = 26)
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Node 16 (n = 23)
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Node 17 (n = 64)
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